
 

1.     X = 7392754.9700     Y = 5074235.3800 

2.     X = 7392742.2320     Y = 5074251.0124 

3.     X = 7392971.9665     Y = 5074438.3014 

4.     X = 7392985.3000     Y = 5074420.8900 

5.     X = 7392879.1300     Y = 5074335.3700 

6.     X = 7392902.8000     Y = 5074061.8000 

7.     X = 7393339.3140     Y = 5074103.3458 

8.     X = 7393375.8926     Y = 5073651.4143 

9.     X = 7393369.9100     Y = 5073650.9000 

10.   X = 7393375.8400     Y = 5073581.7700 

11.   X = 7393135.6400     Y = 5073555.8300 

12.   X = 7393148.8181     Y = 5073402.7244 

13.   X = 7393133.9000     Y = 5073401.1100  

14.  X = 7393143.4200     Y = 5073291.0700 

15.  X = 7393070.1800     Y = 5073299.3500 

16.  X = 7393059.2500     Y = 5073296.7500 

17.  X = 7393050.7200     Y = 5073289.7100 

18.  X = 7393027.4200     Y = 5073151.6600 

19.  X = 7393007.0300     Y = 5073387.3900 

20.  X = 7392929.9700     Y = 5073379.0600 

21.  X = 7392910.2400     Y = 5073607.2100 

22.  X = 7392904.2600     Y = 5073606.6900 

23.  X = 7392849.2207     Y = 5074243.0414 


